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SD345 D19 L=3.0m m 129 129
SD345 D19 L=4.0m m 160 160




I & & Al A RO X 5 = RETET LB E
BEKEEMT

HELT UEYRIE US3-B250-H250 58.4 58

US3-B500-H500 84.3 84

US3-B500-H600 15.2 15

AEamary—+ A9 —FQ 1.505 2

EET 15EET PK1-RC1-D450 34 3
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MR 200  (m (m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3)

No. 0 +  0.000 0.0
NO. 0 + 13420  13.4 0.0 0.00 0.0
NO. 1+ 0.000 6.6 0.7 0.35 2.3
NO. 2 + 0.000  20.0 0.2 0.45 9.0
NO. 2 + 12501 125 0.1 0.15 1.9
NO. 3 +  0.000 7.5 0.7 0.40 3.0
NO. 4 +  0.000  20.0 0.8 0.75 15.0
NO. 4 + 11583 11.6 1.0 0.90 10.4
NO. 5 +  0.000 8.4 1.1 1.05 8.8
NO. 5 +  4.500 4.5 0.6 0.85 3.8
NO. 6 + 0000 155 0.7 0. 65 10.1
NO. 7+ 0.000  20.0 1.7 1.20 24.0
NO. 8 + 0000  20.0| 2.3 2.00 40. 0|
NO. 9 + 0000  20.0| 1.5 1.90 38. 0|
No. 10 +  0.000  20.0| 1.8 1. 65 33.0|
No. 11 +  0.000  20.0| 2.5 2.15 43. 0|
No. 12 + 0000  20.0|  14.3 8.40  168.0
No. 12 + 10924 10.9] 151 1470  160.2
No. 13 +  0.000 9.1 158  15.45  140.6
No. 14 + 0000 200 159 1585  317.0
No. 15 + 0000  20.0) 148 1535  307.0|
No. 16 + 0000 200 107 1275  255.0
No. 16 +  2.352 2.4| 8.8 9.75 23.4
No. 16 + 17.300  14.9| 1.9 5. 35 79.7
No. 17 +  0.000 2.1 1.5 1.70 4.6

& : 340. 0| 1,697.8
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) BRiksNEET 4.0=W BA-T B{ksM BT 2.5<W<4.0 B4-2 BEfksMEET W<2.5 BA-3
R BElwam TY rs|wEw ;9 = |waw T :gz|w®
A 2 R 200 (m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3)
No. 0 +  0.000 0.0 0.0 0.0
NO. 0 + 13420  13.4 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
NO. 1+ 0.000 6.6 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
NO. 2 + 0000  20.0 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
NO. 2 + 12501 125 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
NO. 3 +  0.000 7.5 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
NO. 4 + 0000  20.0 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
NO. 4 + 11.583  11.6 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
NO. 5 +  0.000 8.4 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
NO. 5 +  4.500 4.5 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0
NO. 6 + 0000 155 0.0 0.00 0.0| 0.0 0.00 0.0 0.1 0.05 0.8
NO. 7 + 0000  20.0 0.0 0.00 0.0| 0.0 0.00 0.0 0.1 0.10 2.0
NO. 8 + 0000  20.0| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.05 1.0
NO. 9 + 0000  20.0| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
No. 10 +  0.000  20.0| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
No. 11 +  0.000  20.0| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
No. 12 + 0000  20.0| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
NO. 12 + 10,924 10.9| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
No. 13 +  0.000 9.1| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
NO. 14 + 0000  20.0| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
No. 15 +  0.000  20.0| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
No. 16 +  0.000  20.0| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
No. 16 +  2.352 2.4| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
No. 16 + 17.300  14.9| 0.0 0.00 0.0| 0.0 0.00 0.0 0.0 0.00 0.0|
No. 17 +  0.000 2.1 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
|| ||
& it 340. 0| 0.0 0.0 3.8
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I £33 = = ot + = = 1 £33 = = #ﬁ
W E R T r B MTE 1A b r B WTE R T * B

MR 200  (m (m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3)
No. 0 +  0.000 0.0
NO. 0 + 13420  13.4 0.0 0.00 0.0
NO. 1+ 0.000 6.6 0.1 0.05 0.3
NO. 2 + 0.000  20.0 0.1 0.10 2.0
NO. 2 + 12501 125 0.1 0.10 1.3
NO. 3 +  0.000 7.5 0.1 0.10 0.8
NO. 4 +  0.000  20.0 0.1 0.10 2.0
NO. 4 + 11583 11.6 0.1 0.10 1.2
NO. 5 +  0.000 8.4 0.1 0.10 0.8
NO. 5 +  4.500 4.5 0.0 0.05 0.2
NO. 6 + 0000 155 0.0 0.00 0.0
NO. 7 + 0000  20.0 0.0 0.00 0.0|
NO. 8 + 0000  20.0| 0.0 0.00 0.0|
NO. 9 + 0000  20.0| 0.0 0.00 0.0|
No. 10 +  0.000  20.0| 0.0 0.00 0.0|
No. 11 +  0.000  20.0| 0.1 0.05 1.0
No. 12 + 0000  20.0| 0.2 0.15 3.0
NO. 12 + 10,924 10.9| 0.1 0.15 1.6
No. 13 +  0.000 9.1| 0.1 0.10 0.9
NO. 14 + 0000  20.0| 0.1 0.10 2.0
No. 15 +  0.000  20.0| 0.1 0.10 2.0|
No. 16 +  0.000  20.0| 0.1 0.10 2.0
No. 16 +  2.352 2.4| 0.1 0.10 0.2
No. 16 + 17.300  14.9| 0.1 0.10 1.5
No. 17 +  0.000 2.1 0.1 0.10 0.3

& : 340. 0| 23.1
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) BRIE 1.0m=<H C2-1 BRI W<T. Om C2-2
AR wE goe ot g | wmEm J_0 o+ g | wEm 2 o+ #
A 2 R 200  (m (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3)
No. 0 +  0.000 0.0 0.0
NO. 0 + 13420  13.4 0.0 0.00 0.0 0.0 0.00 0.0
NO. 1+ 0.000 6.6 0.0 0.00 0.0| 0.2 0.10 0.7
NO. 2 + 0000  20.0 0.0 0.00 0.0| 0.2 0.20 4.0
NO. 2 + 12501 125 0.0 0.00 0.0| 0.2 0.20 2.5
NO. 3 +  0.000 7.5 0.0 0.00 0.0| 1.2 0.70 5.3
NO. 4 + 0000  20.0 0.0 0.00 0.0| 1.2 1.20 24.0
NO. 4 + 11583 116 0.0 0.00 0. 0 1.2 1.20 13.9
NO. 5 0.000 8.4 0.0 0.00 0.0| 1.0 1.10 9.2
NO. 5 4.500 4.5 0.0 0.00 0.0| 0.7 0.85 3.8
NO. 6 0.000  15.5 0.0 0.00 0.0| 0.8 0.75 11.6
NO. 7 0.000  20.0 0.0 0.00 0.0| 0.0 0.40 8.0
NO. 8 0.000  20.0f 0.0 0.00 0.0| 1.0 0.50 10.0|
NO. 9 0.000  20.0f 0.0 0.00 0.0| 0.8 0.90 18.0|
10 + 0000  20.0| 0.0 0.00 0.0| 0.9 0.85 17.0|
11 + 0000  20.0| 0.0 0.00 0.0| 1.2 1.05 21.0|
12 + 0000  20.0 0.0 0.00 0.0 0.3 0.75 15.0|
12 + 10924 109 3.2 1. 60 17.4 0.2 0.25 2.1
13 +  0.000 9.1 3.2 3.20 29. 1 0.1 0.15 1. 4f
14 + 0000  20.0 3.4 3.30 66.0 0.1 0.10 2.0|
15 + 0000  20.0 3.5 3.45 69. 0| 0.1 0.10 2.0|
NO. 16 0.000 200 3.1 3.30 66.0 0.2 0.15 3.0
NO. 16 2. 352 2.4 3.1 3.10 7.4 0.2 0.20 0.5
NO. 16 + 17300  14.9 3.4 3.25 48.4 0.2 0.20 3.0
NO. 17 +  0.000 2.1 3.4 3.40 9.2 0.2 0.20 0.5
& B 340. 0 312.5 179




T I % 8 f FE &
BREL 1.0=W<4.0m B6-1 B L I<T. On B6-2
A = BB E o T oty E o
I £33 = = ot + = = 1 £33 = = #
W E R T r B MTE 1A b r B HTE R T r B i
MR 200  (m (m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3)

No. 0 +  0.000 0.0 0.0

NO. 0 + 13420  13.4 0.0 0.00 0.0 0.0 0.00 0.0

NO. 1+ 0.000 6.6 0.0 0.00 0.0| 0.0 0.00 0.0

NO. 2 + 0000  20.0 0.0 0.00 0.0| 0.0 0.00 0.0

NO. 2 + 12501 125 0.0 0.00 0.0 0.0 0.00 0.0

NO. 3 +  0.000 7.5 0.2 0.10 0.8 0.1 0.05 0.4

NO. 4 +  0.000  20.0 0.2 0.20 4.0 0.1 0.10 2.0

NO. 4 + 11583 11.6 0.2 0.20 2.3 0.1 0.10 1.2

NO. 5 +  0.000 8.4 0.2 0.20 1.7 0.0 0.05 0.4

NO. 5 +  4.500 4.5 0.0 0.10 0.5 0.1 0.05 0.2

NO. 6 + 0000 155 0.0 0.00 0.0 0.3 0.20 3.1

NO. 7 + 0000  20.0 0.0 0.00 0.0| 0.0 0.15 3.0

NO. 8 + 0000  20.0| 0.0 0.00 0.0| 0.4 0.20 4.0|

NO. 9 + 0000  20.0| 0.0 0.00 0.0| 0.4 0.40 8.0|

No. 10 +  0.000  20.0| 0.0 0.00 0.0| 0.3 0.35 7.0|

No. 11 +  0.000  20.0| 0.0 0.00 0.0| 0.3 0.30 6.0|

No. 12 + 0000  20.0| 0.0 0.00 0.0| 0.0 0.15 3.0|

NO. 12 + 10,924 10.9| 0.0 0.00 0.0| 2.3 1.15 12. 5

No. 13 +  0.000 9.1| 0.0 0.00 0.0| 2.3 2.30 20. 9|

NO. 14 + 0000  20.0| 0.0 0.00 0.0| 2.4 2.35 47. 0|

No. 15 +  0.000  20.0| 0.0 0.00 0.0| 2.5 2.45 49. 0f

No. 16 +  0.000  20.0| 0.0 0.00 0.0| 2.3 2.40 48.0

No. 16 +  2.352 2.4| 0.0 0.00 0.0| 2.3 2.30 5.5

No. 16 + 17.300  14.9| 0.0 0.00 0.0| 2.4 2.35 35.0

No. 17 +  0.000 2.1 0.0 0.00 0.0 2.4 2.40 6.5

& : 340. 0| 9.3 262.7
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%23 Eﬁﬁ Ej( fir T %%f E%i %2? DX fi] L - 20. 000
LA VIRER
R HOEE B
R . [T R N O ) o

11 +14.338 0. 000 0.

12 +0.000 5. 662 0. 0. 25 1.4

12 +10.924  10.924 0. 0. 50 5.5

13 +0.000 9.076 0. 0. 40 3.6

14 +0.000  20.000 0. 0. 35 7.0

15 +0.000  20.000 0. 0. 40 8.0

16 +0.000  20.000 2. 1.35 27.0

16 +2.532 2.532 3. 2. 80 7.1

16 +17.300  14.768 5. 4. 40 65. 0

17 +0.000 2.700 0. 2.75 7.4

= 105. 662 132.0
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AR L BB R

Fii 3] M 5] A ¥ HAAT # &
% e

W fF Hr T. F300-2000 X 2000

R T m? 649. 4
Utk mEIE LT [/C= | m? 649. 4
T S N I > F300 m? 653. 6
WA e oL 2L o ck=18N/mm2 m” 58. 82
Kk & X 4 7 VU ¢ 50 m 65. 1
&k 5 SD345 D13 kg 2876
5 % T $ 2X 50X 50 m? 649. 4
N T L& VAT t=10cm m?” 438. 2
K EEE )L X )L ¢ ck=18N/mm2 m® 2.27
BRI L XL o ck=18N/mm2 m® 5. 42
{ep Ha H H t=10mm m> 11.3




No

TR M B K i B # &=
e T
WA T F300-2000 X 2000
IR A e T
[if] & A= 649.41 649.4 m*
v ik m
B THK E T A= 649.41 649.4 m”
WA TE
s MERIER L= 288.3 m
MPIEE L= 434.3m
R R BN= 230
F300 L= (288.3 +  434.3)— 230 X 0. 30 653.6 m
WA | L
v % o ck=18N/mm2
V= 0.30 X 0.30 X  653.60 58.82 m°
K P& X
A ~ VU ¢ 50
N= 434.30 + 2.00 = 217K
L= 217 X 0. 30 65.1 m
£k 55 SD345
DI3 W= (288.3 +  434.3)X 2X2 X  0.995 2876 kg
62X 50X
5 2T 50 A= 649. 40 649.4 m®
N TE L&
JLU Wk T t=10cm
A= 649. 41
72 e R —0.30 X 653.6
K b 8 e
I LR —0.15 X 100. 9
438.2 m*
K i i HE
F )L H L o ck=18N/mm2
) V= 0.30 X 0.15 X 1/2 X 100.9 2.27 m®
T S
F )L H L o ck=18N/mm2
V= 0.30 X 0.40 X 1/2 X 90. 4 5.42 m®




No

C 1IN 1 I ST i oK % &

fd #E B Ht t=10mm

i 2 al=  0.30 X 32 = 9. 60
X o a2=  0.30 X 0.15 X 1,/2 X 9 = 0. 20
K ] a3= 0.30 X 0.15 X 1,/2 X 32 = 0.72
% i ad= 0.30 X 0.60 X 1,/2 X 9 = 0. 81

ai = 11.33

W = 11.3 m?®




R
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PRADTEA T BRI

i Al il il Bl 1% AL K B
B oM oA T

B A SD345 D19
L=2. Om m 100
L=2. 5m m 118
L=3. Om m 129
L=4. Om m 160
f=ieis m 507

Fill L BES HIIFLEE ¢ 65 m 434.5




C 1IN 1 I ST

%

=X
g B o AN LT
& i) i A SD345 D19 MERARA ALK
L=2.0m L= 50 X 2.0 100.
L=2.5m L= 47 X 2.5 118.
L=3.0m L= 43 X 3.0 129.
L=4.0m L= 40 X 4.0 160.
&t 507.0 m
HIl FLEE ¢
HI fL & 65
[=2.0m L= 50 X 1. 60 80.
[=2.5m L= 47 X 2.10 98.
[=3.0m L= 43 X 2. 60 111.
L=4.0m L= 40 X 3. 60 144.
&t 434.5 m
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FEKEEYVWIHEELEHR
I i& & Al A RO X 4 B = B E
HEKEEMT

{l;ET UEYEIE  |US3-B250-H250 m 58.4
US3-B500-H500 7 84.3
US3-B500-H600 7 15.2
SR MBIV - av91)—k2 m3 1.505
EET 18&ET |PKI-RC1-D450 m 3.4
b= ¢ 450 m 97.4
HTHEK | 9200 m 974
1=Ci& SEERIFLVE ¢ 150 m 8.2
BEEERYIFLLE ¢ 300 7 10.0
SEoK# SM-B900-L900-H800 B30 3
SM-B900-L1500-H900 7 1

wE YL—FI98 B900-L900FH (T-25) ® 6 28EMNT

B900-L 1500/ (T-25) " 2 7

RS it SM-B800-L600-H430 &30 3
SM-B800-L800-H1500 " 3
wE YL—FI98 B800-L600FH (T-25) ® 3




BE XK # & 9 I € E i &
UEMEIE
i B USs3 "
i3]
#£m NO &l NO B250-H250 | B500-H500 | B500-H600
1 2+ 800 ~ 54+  6.40 58.40
2 74+ 760 ~ 11+ 1190 84.30
3 54+ 830 ~ 6 + 350 15.20
=) £} 58.40 84.30 15.20

A




NO.

BET £itR
NO.12+0.600
I i& Al B s B = W=
p. 7. PK1-RC1-D450 m 3.4
17 . 1.2
HpgEas o) —k avH1)—k® 8 0.34
HEB@Ea 9 — B z 1.3
HEERA RC-40 (t=150) " 2.3
EELTT
K & 10=H 8 10.7
BRL 1.0m=W<4.0m 8 95 BXEEE
Bty 8 0.1 c=09
HEmEEIEF 2 2.3
(FrE%ER)
WFEIH)—k avH1)—k® 8 0.13
a4y )—rE B z 0.5
HE#ERA RC-40 (t=150) " 0.1
(BEEZER)
WFEIH)—k avH1)—k® 8 0.09
a4y —rE B z 0.5
HE#ERA RC-40 (t=150) " 0.1




NO.

EET(#2) (PK1-RC1-D450)
(NO.12+0.600) L=3.391m

1AL
L= 3.391
L= 2.891
N= 2891 + 2.430
2.EBILO)—Fk
V= 2890 x (0230
-( 0526 * x T

- 0.263 X 0.263

SEMaVH)—FER
A= 2890 X 0.230

4 EHEA (RC-40) (t=150)
A= 2890 X 0.800

EFEIU)—

(ARER)
X 0.600
/ 4 / 4
/ 2))
X 2
o
Lot
P
o
of &
o o
o
g3

(Ao )—+3®)

100

600

N\ EfER A (RC-40)

100

800

3.39 m

289 m

1.2 K

034 m

130 m

230 m




NO.

EET(#2) (PK1-RC1-D450)
(NO.12+0.600) L=3.391m

2

5.%1T
FEHIEHEIE
h= 4500 —+ 2.890 1.56 m
7
V= ( 3.160 + 1.600) / 2 X 1.560 X 2.890 10.73 m
HBEREL
V= 3.300 X 2.890 954 m
% T
V= 10.730 - 9.540 1.19 m
HEEIE
A= 0800 X 2.890 230 m
A,
v .
, i
3500 3500 3500 2500 1000 A
[ 7
£t FSM-BB00-L 60D-HABD: i3 h
wT ol g
2. 000% VA 2.000% ) ’ by
it = R o4 1 7
T, tl_" I"ll foll
o "“Jj. 2 gt\
3 4764 7| |2 Al SR £k ¥k (M BBOO LBOD H1500)
8.480 // \
o / 8.508 / . 2,508
HEI L2 U— by
HPIER =2 89In _A=4 5rd
FiRT (PK1-RC1-DA50}
559 (JF L3 L=3 301

HBERA=3. 3nf

800
1600

500 [400.




NO.

EET(#2) (PK1-RC1-D450)
(NO.12+0.600) L=3.391m

6.EFa>HY—k
(BrE%Ep)
FEaHY—F
V= ( 0800 X 0.800 - 0.263 2
avyy—rEg
A= 0.800 X 0300 X 2
EBBA (RC-40) (t=150)
A= ( 1.000 - 0.800 ) X 0.300
(BEE%EB)
FEaHY—F
V= ( 0800 X 0.800 - ( 0.263 2
+ 0263 X 0263 X 1/2
+ 0.600 X 0.230)) x 0.300
a>yy—rER
A= 0.800 X 0300 X 2
HEBEP»A (RC-40) (t=150)
A= ( 1.000 - 0.800 ) X 0.300
gog
137, 026 137
/'\ '
s ¥ =
BED o yY— N
= ‘j;u — F@ : \‘:"/ : =
0000 80808 &
L B E (RG-40)
100 200 i)

1000

0.13 m®

0.50 m?

0.10 m?

0.09 m°

0.50 m?

0.10 m*

400

150

X 3.141) x 0300 =
X 2 =
X 3.141 X 3/4
X 2 =
GO0
300 300
B £
- B
e \ R (R 40
600




ARl 7 Y — b

ERVATIE I iR S

R
U —k

NO. 5+. 30~N0. 6+3. 5047
L=15.2

V=(0. 050+0. 148) X 15.2+2 = 1. 505 m3

US3-BE00-H500 L=15 200

3 3
e
5 5
g = SW-UE00-LED0-1 00
S BO00-11300-HEG0 !
P D118 /
A ; Lt /
*, ! , g
S i 1
3 : \
O - i=0. 3%
- g -
K o= Z n
e e )
! kY i i\
4440 7 440 BTl AR ]
WEEREa D J— S 16 M

Br M §=1:20

500

HMEFREI LS U—
= R ]

£00

HEALZND HE MRS (RC-40)




E K # & ¥ I E E B &
v B i R & i
5]
#£5 NO. #£mE NO. A ¢ 450
1l 124+ 100 ~ 144+ 52| & 44.20
2| 144+ 600 ~ 164+ 1020]| » 44.20
3l 164+ 1100 ~ 174+ 000]| » 9.00
=) B m 97.40




BE K B & 9 I £ E B =
£z B y. th T HEK
i

#5 NO. A NO. A ¢ 200
1l 124+ 100 ~ 144+ 52|58 44.20
2| 14+ 600 ~ 16+ 1020 » 44.20
3] 164+ 1100 ~ 174+ 000| » 9.00

=) & m 97.40




BE XK # & 9 I € E i &
{iv2 B i FCEEERER)IFLUE)
#£m NO. ¥ 5 NO. A ¢ 150 ¢ 300
1 54+ 050 ~ 5+ 680 |& 10.0
2l 12+ 060 " 8.20
=) & m 8.20 10.00




ok # & B I & % OB =
kT
B A Nci‘.i - E%W‘F T-25(#8) | T-6(#AB) | T-2(8) | # =
$EKBME (B900-L450%2) oM T
SM- B900-  L900-  H800
6+ 410 a1
7+ 700 " 1
11+ 1250 w| 1
& 3
mMESH 6
$EKBE (BI00-L750%2) oM T
SM- B900 - L1500 -  H900
5+ 730 a1 9
Bl
LEE 2




B K B & B I & A &
B
B A NC1_L - § SOk T-25(3B) | T-6(HE) | T2088) |
£k PE (B800-L600)
SM- B800-  L600-  H430
12+ 060 Al 1 1
14 + 5.60 A 1 1
16 + 10.60 A 1 1
& 3
ek 3
SM-  B800 - L800 - H1500 =7
124+ 060 Al 1
14 + 560 =l 1
16 + 10.60 Al 1
B 3
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BEYREIBRESEHR0/2)

I & Al Al B R 5 61 =) i =
BEYRETL
FhEEMEE T
ThegMEE | A—FL—L m 153.2
BEYEIET
V) -MEED
ERYIEL B EEY m’ 377D
V) -MEED
ERYEL SRS m’ 80.7@
SEMRUIT  BEEER t= 5cm m 29.5
SRR T | HES t= 5cm m’ 4,955.6
IBEE#E | VP$200 m 101.5
FIIFLVBERE BBER YIFLVE ¢ 300 m 10.0
HP ¢ 450 m 93.7
PRIE 1.0=H m’ 25.2 HP ¢ 4504 =B
BRL W<1.0 m’ 28.6 | HP ¢ 45018 = B
BEYIET (%)
UE!MAIE BXiE L |U-B200-H150 m 50.8/@
US3-B300-H300 " 127/@
US3-B400-H400 " 26.7@
US3-B450-H450 " 88.4/@
Sk ¥t Ei%& L T B800-L800-H800 & 2®
B900-L900-H900 " 3@
B1700-L1800-H1700 " 10
HP ¢ 450 m 93.71/0D@
B 5% W4+ 3% #4 £F 150-1000 X 1000 m” 990.6
m’ 58.6/@
SEEERTOYYCHE m 314.30 D
a>9)—hk—)L [t=10cm m 107.30|D
HhEHER IOy |HB m 44.60 D




BEYREIBRESEHRQ/2)

I & Al Al B R 5 61 = i =
BEYRET
ERA BRI ET
Z/\—R—)L |H=650 1l 98
BEHibsHAR—)L | BYSLK 1 7
IvarvRSL & 3
RIRFEZ e S 19
(A) £ 7
(B) £ 8
(©) H 1
(D) £ 2
ARBERIRFBAZ|(E) £ 1
R EEE E:lz11 6
IERBEAR " 9
Efrn =
o-bskERILE MR | EHEEY | o 37.7
MWL | BEEEY | 0 80.7
TAI7 IV RALTE m’ 2478




BEVRETL

PhEEHsET
| =1 % FhEEMERET
#£ = NO. # = NO. A H—KL—JL
1 2 + 1440 ~ 54+ 590 & 51.10
2l 5+ 670 " 1.70
3] 6+ 48 ~ 11+ 460 # 100.40
& i m 153.20
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YR
GOyl 09'8¢ 05Z 9'8G gw HFE PP Y THFE
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8¢ 251 €00 0S¢ 002 805 w 0SLH-0029-N 7 A=e]
Bl =N P
£786 8'Lve 9666y w IS
(AL YAwWog | [ WY FHE “F5 o 36 [ B EE) YL EL M 3
€786 8'Lve GeT 9'GG6'Y w WogG=} FHBIILLY L PHIEE | TEM
™ (W) (W) ¢ ™ (W) (W) ¢)) (33) (w)
=RAT ] By BEY EETH| ELW By BEY EETH EE T E K |TH Fo Iy Z
4] ¥ %] f E [
BEWE (EI—(14~C) IS TR 5




wEMRHET

Bk EMEET
i & Vi UERAIERE
#£ = NO. = = NO. A U-200-150 US3-300—-300 | US3-400-400 | US3-450-450
2+ 1320 ~ 5+ 350 & 49.90
2 5+ 5.60 " 0.90
3 5+ 7.10 " 9.30
4 5+ 7.60 ~ 6 + 4801 n 17.40
5 7 + 6.40 ~ 11 + 1450 o 88.40
6[ 11 + 1510 " 5.10
71 12 + 0.70 " 7.60
=} H m 50.80 12.70 26.70 88.40




BEMHRETL

HKEEVRET
i & £ K # B E aAVY)—h5E
Al s NO. B L H t \Y
V=(B+2t) X (L+2t) X (H+0.150)-B X L X H
B800-L.800-800
1 5+ 410 A 080 x 080 x 080 0.150 0.64
2l 114+ 1510 n 080 x 080 x 080 0.150 0.64
Hi {& 2 1.28
B900-L.900-H900
1 12+ 070 A 090 x 090 x 090 0.150 0.78
2| 14 + 570 090 x 090 x 090 0.150 0.78
3 16+ 1070 n 090 x 090 x 090 0.150 0.78
Hi {& 3 2.34
B1700-L800-1700
1 5+ 660 A 170 x 080 X 1.70 0.200 2.35
Hi & 1 2.35




BEYREL

B A5 T
g5 =

T N =
BIERE#T
A=9906 (BIZZBIREHETFEELY) 990.6 m2
1m2H =Y D#EFE A=(1.0 X 1.0-0.85 X 0.85)=0.278
Meqt#T
V1=990.6 X 0.278 X 0.150 41.3 m3
PRUOET
hiEHTOyo N=192{8 FRFERIE R KY)
V2=192 X 1.0 X 1.0 X 0.09 17.3 m3
BRI EEE
Y V=41.3+17.3 58.6 m3

-im2H YD T 0y EmEEEER)

.
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5. 850 ]t
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BEVRETL

) -MEEYEET

Al o RSB E
_H; > M+ ~ k<, —
#£ = NO. # = NO. A jiﬁfg‘gjl]/O E\Ij1%:m)(:;00$ VY —rS— L (m?)

1 1 + 000 ~ 5 + 450 & 84.90 84.90 0.80
2 10 + 18.00 ~ 12 + 0.00f o 22.40 22.40 0.20
3 1 + 000 ~ 5 + 450 H 84.90
4 10 + 18.00 ~ 17 + 0.00f o 122.10

& i m 314.30 107.30 1.00




BEVRETL

1Y -MEEYET
3 = £ |HEBERIOVY
£ & NO. ® 5 No. | B HB
11 9+ 1030 ~ 11 + 1450 & 44.60
& i m 44.60




BEVRETL

kB sEEET
iﬁll 4N % E I
i BEE
#£ = NO. # = NO. VP 200 | RYTFLUE | HPp450
¢ 300
1 5+ 050 ~ 5+ 62004 10.00
2| 11+ 1560 ~ 17+  000| » 101.50
3l 12+ 130 ~ 14+ 500 » 43.40
4/ 14+ 660 ~ 16 + 10.60| # 42.00
5/, 164+ 1130 ~ 17+ 000| » 8.30
& i m 101.50 10.00 93.70




BEVRETL

SHE Wi ) M
- T RT7 )L AR T
i AT #
#£ = NO. #® =\ NO. t=5cm
1 1 4+ 000 v 6.20
2l 17 + 000 " 6.50
3 1 4+ 000 A 9.90
4] 17 + 000 " 6.90
& i m 29.50




BEVRETL

SHEMREBUEL
. T RAI7 LSRR ERIEL
b = i s
= BHEE
#£ = No. ¥ = NO. t=5cm
1 1+ 000 ~ 17 + 000 4955.60

op
np

a m 4955.60




BEVRETL

E R B A A T
Al — —
& NO #® NO % 7/|§|=7f13_\t')0 o ﬁﬁftg;%’_ﬂ)b Jviar kL
1| 54+ 55 ~ 5+ 1750 % 11
2| 6+ 900 ~ 10 + 1700 » 87
3 5+ 1800 ~ 6+ 840 # .
4 0+ 1770 ” 1
51 54+ 480 " 1
6] 10 + 17.70 " 1
G & 98 7 ;




BEVRETL

A
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% BRFEEN) | BEELEE) BEFEIEC)
#£ = NO. £ = NO.
1 8 + 10.00 17 + 0.00| £ 7
2 2 + 450 5 + 420 n 3
3 12 + 12.00 17 + 0.00| o 5
4 11 + 0.00 " 1
& i & 7 8 1
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#£ = NO. ¥ = NO.
1 1+ 000 ~ 1 1.00| %= 2
2 0 + 19.00 " 1
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& i & 6
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U—200x 1508l &= B BEEE
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%/444? ?

\EAZO.OSOnf
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ol 1 = B E

1. A{K A= 0.030 = 0.030 m
(BB —k)




EEVP O 200HP ¢ 4508% B MEHEE

g A= 2. 69m2
HERL A= 3. 05m2 22— bRYERL
. £ A=0.058m2
a7 )—FRYEL
a5 A=0. 117m2
600
oA -1 = H =
1. AIK A= 0.117 = 0.117 m?
(EfHaI)—H)
2. KK A= 0.058 = 0.058 m?
(ma>o)—k)
3.5R1E A= = 2.690 m?
4IBEL A= = 3.050 m?







WEIHE R AR

I & Al #H 5l 7S X % B = W E
=T
BB #FELT FREEIE m’ 1,218.1
REI HHE7RIV20HEIE t=5cm m’ 5429.3
30m=w 5,350.8
14SW<B0m 72,0
W<1.4m 6.5
HEEI  HMHME7RI20 t=5cm m” 5475.8
30m=w 5,397.5
14SW<B0m 49.9
W<1.4m 98.4
EERBET EERELE0 t=8cm m” 1,178.4
TERET BE£95y2vy—352RC-40t=25cm I 1,224.7
LR B(RE) BHET AL 200E TE m’ 824 F#E50cm
" m® 4.1
LAY BERE) A ET 2220 m” 1,807.7  F§[E35cm

" m? 63.0




wOE I # 2 &t 8 2

HiE
. FEEE (£) FEEE (5)
Aoow B g ;; iﬁ" miE g8 mq; g miE g & ;; iﬁ" miE 5 8 mq; g miE
B = bR 20.00 (m) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2)

NO. 1 + 0.000 0.00 0.00
NO. 2 + 0.000 20.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 2 + 12.501 12.5 0.00 0.00 0.0 0.00 0.00 0.0
NO. 3 + 0.000 1.5 0.00 0.00 0.0 1.35 0.68 5.1
NO. 4 + 0.000 20.0 0.00 0.00 0.0 1.35 1.35 27.0
NO. 4 + 11.583 11.6 0.00 0.00 0.0 1.35 1.35 15.7
NO. 5 + 0.000 8.4 0.00 0.00 0.0 1.35 1.35 11.3
NO. 5+ 4.500 4.5 0.00 0.00 0.0 1.80 1.58 7.1
NO. 6 + 0.000 15.5 0.00 0.00 0.0 2. 31 2.06 31.9
NO. 7 + 0.000 20.0 0.00 0.00 0.0 4.33 3.32 66. 4
NO. 8 + 0.000 20.0 0.00 0.00 0.0 4.82 4.58 91.5
NO. 9 + 0.000 20. 0“ 0.00 0.00 0.0 4.82 4.82 96. 4
NO. 10 + 0.000 20.0 0.00 0.00 0.0 4.82 4.82 96.4
NO. 11 + 0.000 20.0 0.00 0.00 0.0 4.82 4.82 96. 4
NO. 12 + 0.000 20.0 0.00 0.00 0.0 4.23 4.53 90.5
NO. 12 + 10.924 10.9 0.00 0.00 0.0 5.88 5.05 55.1
NO. 13 + 0.000 9.1 0.00 0.00 0.0 5.88 5.88 53.5
NO. 14 + 0.000 20. 0“ 0.00 0.00 0.0 5.88 5.88 117.5
NO. 15 + 0.000 20.0 0.00 0.00 0.0 5.88 5.88 117.5
NO. 16 + 0.000 20.0 0.00 0.00 0.0 5.18 5.53 110.6
NO. 16 + 2.352 2.4 0.00 0.00 0.0 4.85 5.01 12.0
NO. 16 + 17.300 14.9 0.00 0.00 0.0 2.76 3.80 56.7
NO. 17 + 0.000 2.7 0.00 0.00 0.0 2.43 2.59 7.0

R LY 52.5

= E 320.0 0.0 1,218. 1




W E I # =2 i E
HiE
&KE t=5cm 3.0m=W (&) &KE t=bcm 1.4=W<3.0m (%) RE t=5cm W1.4m (&) &KE t=5cm 3.0m=W (H)
Aoow B g E iﬁ" miE g & mq; g miE g 8 E iﬁ" miE g & mq; g miE ||
B = bR 20.00 (m) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2)

NO. 1 + 0.000 8.76 0.00 0.00 8.32
NO. 2 + 0.000 20.0 8.65 8.7 174.1 0.00 0.00 0.0 0.00 0.00 0.0 8.35 8.34 166. 7
NO. 2 + 12.501 12.5 5.99 1.32 91.5 2.10 1.05 13.1 0.00 0.00 0.0 8.40 8.38 104.7
NO. 3 + 0.000 1.5 6. 04 6.02 45.1 2.10 2.10 15.8 0.00 0.00 0.0 8.20 8.30 62.3
NO. 4 + 0.000 20.0 6.32 6.18 123.6 1.40 1.75 35.0 0.00 0.00 0.0 8.38 8.29 165.8
NO. 4 + 11.583 11.6 6.57 6. 45 74.8 0.00 0.70 8.1 0.62 0. 31 3.6 8.58 8.48 98. 4
NO. 5 + 0.000 8.4 6.78 6. 68 56. 1 0.00 0.00 0.0 0.05 0.34 2.8 8.72 8.65 72.7
NO. 5+ 4.500 4.5 7.00 6. 89 31.0 0.00 0.00 0.0 0.00 0.03 0.1 8.80 8.76 39. 4
NO. 6 + 0.000 15.5 1.25 7.13 110. 4 0.00 0.00 0.0 0.00 0.00 0.0 9.49 9.15 141.7
NO. 7 + 0.000 20.0 1.25 7.25 145. 0 0.00 0.00 0. O“ 0.00 0.00 0.0 10.13 9. 81 196. 2
NO. 8 + 0.000 20.0 1.25 1.25 145.0 0.00 0.00 0.0 0.00 0.00 0.0 10. 75 10. 44 208. 8
NO. 9 + 0.000 20. O“ 1.25 7.25 145. 0‘ 0.00 0.00 0.0 0.00 0.00 0.0 10. 75 10.75 215.0
NO. 10 + 0.000 20.0 1.25 1.25 145.0 0.00 0.00 0.0 0.00 0.00 0.0 10. 75 10.75 215.0
NO. 11 + 0.000 20.0 6.90 7.08 141.5 0.00 0.00 0.0 0.00 0.00 0.0 10. 25 10. 50 210.0
NO. 12 + 0.000 20.0 6.87 6. 89 137.17 0.00 0.00 0.0 0.00 0.00 0.0 10. 20 10. 23 204.5
NO. 12 + 10.924 10.9 6.62 6.75 73.5 0.00 0.00 0.0 0.00 0.00 0.0 10. 17 10.19 111.0
NO. 13 + 0.000 9.1 6.69 6. 66 60. 6 0.00 0.00 0.0 0.00 0.00 0.0 10. 20 10. 19 92.17
NO. 14 + 0.000 20. O“ 6.47 6.58 131.6 0.00 0.00 0.0 0.00 0.00 0.0 10. 20 10. 20 204.0
NO. 15 + 0.000 20.0 6. 66 6.57 131.3 0.00 0.00 0.0 0.00 0.00 0.0 10. 20 10. 20 204.0
NO. 16 + 0.000 20.0 6. 66 6. 66 133.2 0.00 0.00 0.0 0.00 0.00 0.0 9.50 9.85 197.0
NO. 16 + 2.352 2.4 6. 41 6. 54 15.7 0.00 0.00 0.0 0.00 0.00 0.0 9.17 9.34 22. 4
NO. 16 + 17.300 14.9 6. 60 6.51 96.9 0.00 0.00 0.0 0.00 0.00 0.0 7.08 8.13 121.1
NO. 17 + 0.000 2.7 6.52 6.56 17.7 0.00 0.00 0.0 0.00 0.00 0.0 6.70 6.89 18.6

R LY 52.5

= H 320.0 2,226.3 72.0 6.5 3,124.5




WmE I # 2 it E &
HiE
EE t=5cm 3.0m=W (%) EHE t=bcm 1.4=W<3.0m (&) EE t=5cm 3.0m=W (H) EHE t=5cm W<1.4m (&)
Aoow B g E iﬁ" miE g & mq; g miE g 8 E iﬁ" miE g & mq; g miE ||
B = bR 20.00 (m) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2)

NO. 1 + 0.000 8.76 0.00 8.32 0.00
NO. 2 + 0.000 20.0 8.65 8.7 174.1 0.00 0.00 0.0 8.35 8.34 166. 7 0.00 0.00 0.0
NO. 2 + 12.501 12.5 5.98 1.32 91. 4 2.10 1.05 13.1 8.40 8.38 104.7 0.00 0.00 0.0
NO. 3 + 0.000 1.5 6.03 6. 01 45.0 2.10 2.10 15.8 8.20 8.30 62. 3 0.00 0.00 0.0
NO. 4 + 0.000 20.0 6.32 6.18 123.5 0.00 1.05 21.0 8.38 8.29 165. 8 1.39 0.70 13.9
NO. 4 + 11.583 11.6 6.57 6. 45 74.8 0.00 0.00 0.0 8.58 8.48 98. 4 0. 61 1.00 11.6
NO. 5 + 0.000 8.4 6.78 6. 68 56. 1 0.00 0.00 0.0 8.72 8. 65 12.7 0.05 0.33 2.8
NO. 5+ 4.500 4.5 7.00 6. 89 31.0 0.00 0.00 0. 0“ 8.80 8.76 39. 4 0.00 0.03 0.1
NO. 6 + 0.000 15.5 7.30 7.15 110. 8 0.00 0.00 0.0 9.49 9.15 141.7 0.00 0.00 0.0
NO. 7 + 0.000 20.0 1.25 1.28 145.5 0.00 0.00 0.0 10.18 9.84 196. 7 0.00 0.00 0.0
NO. 8 + 0.000 20.0 1.25 1.25 145.0 0.00 0.00 0.0 10.75 10. 47 209. 3 0.00 0.00 0.0
NO. 9 + 0.000 20. 0“ 7.30 1.28 145.5 0.00 0.00 0.0 10.75 10. 75 215.0 0.00 0.00 0. 0“
NO. 10 + 0.000 20.0 7.30 7.30 146.0 0.00 0.00 0.0 10.75 10. 75 215. 0 0.00 0.00 0.0
NO. 11 + 0.000 20.0 6.85 7.08 141.5 0.00 0.00 0.0 10. 25 10. 50 210.0 0.00 0.00 0.0
NO. 12 + 0.000 20.0 6.83 6. 84 136. 8 0.00 0.00 0.0 10. 60 10. 43 208.5 0.00 0.00 0.0
NO. 12 + 10.924 10.9 6. 64 6.74 73. 4 0.00 0.00 0.0 10. 60 10. 60 115.5 0.00 0.00 0.0
NO. 13 + 0.000 9.1 6.67 6. 66 60. 6 0.00 0.00 0.0 10. 60 10. 60 96. 5 0.00 0.00 0.0
NO. 14 + 0.000 20. 0“ 6.49 6.58 131.6 0.00 0.00 0.0 10. 60 10. 60 212.0 0.00 0.00 0.0
NO. 15 + 0.000 20.0 6. 66 6.58 131.5 0.00 0.00 0.0 10. 60 10. 60 212. 0 0.00 0.00 0.0
NO. 16 + 0.000 20.0 6. 66 6. 66 133.2 0.00 0.00 0.0 9.90 10. 25 205.0 0.00 0.00 0.0
NO. 16 + 2.352 2.4 6.43 6.55 15.7 0.00 0.00 0.0 9.57 9.74 23. 4 0.00 0.00 0.0
NO. 16 + 17.300 14.9 6. 61 6. 52 97.1 0.00 0.00 0.0 1.47 8.52 126.9 0.00 0.00 0.0
NO. 17 + 0.000 2.7 6. 51 6.56 17.7 0.00 0.00 0.0 7.10 1.29 19.7 0.00 0.00 0.0

R LY 52.5

= H 320.0 2,2217.8 49.9 3,169.7 28.4




WmE I # 2 it E &
HiE
EE t=8cm 3.0m=W (H) EE t=8cm 1.4=W<3.0m (H) EE t=8cm W1.4m (fH)
Aoow B g E iﬁ" miE g & mq; g miE g & E iﬁ" miE g & mq; g miE
B = bR 20.00 (m) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2)

NO. 1 + 0.000 0.00 0.00 0.00
NO. 2 + 0.000 20.0 0.00 0.00 0.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 2 + 12.501 12.5 0.00 0.00 0.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 3 + 0.000 1.5 0.00 0.00 0.0 0.00 0.00 0.0 1.34 0.67 5.0
NO. 4 + 0.000 20.0 0.00 0.00 0.0 0.00 0.00 0.0 1.34 1.34 26. 8
NO. 4 + 11.583 11.6 0.00 0.00 0.0 0.00 0.00 0.0 1.34 1.34 15.5
NO. 5 + 0.000 8.4 0.00 0.00 0.0 0.00 0.00 0.0 1.34 1.34 11.3
NO. 5+ 4.500 4.5 0.00 0.00 0.0 1.80 0.90 4.1 0.00 0.67 3.0
NO. 6 + 0.000 15.5 0.00 0.00 0.0 2.24 2.02 31.3 0.00 0.00 0.0
NO. 7 + 0.000 20.0 4.23 2.12 42.3 0.00 1.12 22.4 0.00 0.00 0.0
NO. 8 + 0.000 20.0 4.75 4.49 89. 8 0.00 0.00 0.0 0.00 0.00 0.0
NO. 9 + 0.000 20. 0“ 4.75 4.75 95. 0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 10 + 0.000 20.0 4.75 4.75 95.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 11 + 0.000 20.0 4.75 4.75 95. 0 0.00 0.00 0. 0“ 0.00 0.00 0.0
NO. 12 + 0.000 20.0 3.95 4.35 87.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 12 + 10.924 10.9 5.60 4.78 52.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 13 + 0.000 9.1 5.60 5.60 51.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 14 + 0.000 20. 0“ 5.60 5.60 112. 0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 15 + 0.000 20.0 5.60 5.60 112.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 16 + 0.000 20.0 4.91 5.26 105.1 0.00 0.00 0. 0“ 0.00 0.00 0.0
NO. 16 + 2.352 2.4 4.58 4.75 11.4 0.00 0.00 0.0 0.00 0.00 0.0
NO. 16 + 17.300 14.9 0.00 2.29 34.1 2.49 1.24 18.5 0.00 0.00 0.0
NO. 17 + 0.000 2.7 0.00 0.00 0.0 2.16 2.32 6.3 0.00 0.00 0.0

HRILE & Y 52,

= H 320. 1,034. 82. 61. 6




WmE I # 2 it E &
HiE
TR t=25cm 3.0m=W (H) TR t=25cm 1.4=W<3.0m (fH) TR t=25cm W1.4m (H)
Aoow B g E iﬁ" miE g & mq; g miE g & E iﬁ" miE g & mq; g miE
B = bR 20.00 (m) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2) (m) (m) (m2)

NO. 1 + 0.000 0.00 0.00 0.00
NO. 2 + 0.000 20.0 0.00 0.00 0.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 2 + 12.501 12.5 0.00 0.00 0.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 3 + 0.000 1.5 0.00 0.00 0.0 0.00 0.00 0.0 1.38 0.69 5.2
NO. 4 + 0.000 20.0 0.00 0.00 0.0 0.00 0.00 0.0 1.38 1.38 27.6
NO. 4 + 11.583 11.6 0.00 0.00 0.0 0.00 0.00 0.0 1.38 1.38 16.0
NO. 5 + 0.000 8.4 0.00 0.00 0.0 0.00 0.00 0.0 1.38 1.38 11.6
NO. 5+ 4.500 4.5 0.00 0.00 0.0 1.83 0.92 4.1 0.00 0.69 3.1
NO. 6 + 0.000 15.5 0.00 0.00 0.0 2.26 2.05 31.7 0.00 0.00 0.0
NO. 7 + 0.000 20.0 4.33 2.17 43.3 0.00 1.13 22.6 0.00 0.00 0.0
NO. 8 + 0.000 20.0 4.77 4.55 91.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 9 + 0.000 20. 0“ 4.71 4.77 95. 4 0.00 0.00 0.0 0.00 0.00 0.0
NO. 10 + 0.000 20.0 4.77 4.71 95. 4 0.00 0.00 0.0 0.00 0.00 0.0
NO. 11 + 0.000 20.0 4.71 4.77 95. 4 0.00 0.00 0. 0“ 0.00 0.00 0.0
NO. 12 + 0.000 20.0 4.35 4.56 91.2 0.00 0.00 0.0 0.00 0.00 0.0
NO. 12 + 10.924 10.9 6.00 5.17 56. 4 0.00 0.00 0.0 0.00 0.00 0.0
NO. 13 + 0.000 9.1 6.00 6. 00 54.6 0.00 0.00 0.0 0.00 0.00 0.0
NO. 14 + 0.000 20. 0“ 6.00 6.00 120. 0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 15 + 0.000 20.0 6.00 6. 00 120.0 0.00 0.00 0.0 0.00 0.00 0.0
NO. 16 + 0.000 20.0 5.30 5.65 113. 0 0.00 0.00 0. 0“ 0.00 0.00 0.0
NO. 16 + 2.352 2.4 4.97 5.14 12.3 0.00 0.00 0.0 0.00 0.00 0.0
NO. 16 + 17.300 14.9 0.00 2.49 37.0 2.49 1.24 18.5 0.00 0.00 0.0
NO. 17 + 0.000 2.7 0.00 0.00 0.0 2.53 2.51 6.8 0.00 0.00 0.0

R LY 52.5

= H 320. 1,077.5 83. 63. 5




W E I 2 it & &
HiE
LY VTR (EBWI. dm () LRYVGEEEIWL. 4m () || LRY VTR (ERRB)1.ASWKS.0m (B) || LAY UH B (REB) 1. 4<W3.0m (H)
Aoow B g ;gg R | @ % ;;‘é k| A ;gg R | @ % ;;‘é ||
I 25 FE PR 200 (m) (m) (m) (m2) (m2) (m2) (m3) (m) (m) (m2) (m2) (m2) (m3)
NO. 1 + 0.000 0.00 0. 000 0.00 0. 000
NO. 2 + 0.000 20.0 0.00 0.00 0.0 0.000 0.00 0.0 0.00 0.00 0.0 0.000 0.00 0.0
NO. 2 + 12.501 12.5 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 3 + 0.000 1.5 0.00 0.00 0.0 0.000 0.00 0.0 0.00 0.00 0.0 0.000 0.00 0.0
NO. 4 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 4 + 11.583 11.6 0.00 0.00 0.0 0.000 0.00 0.0 0.00 0.00 0.0 0.000 0.00 0.0
NO. 5 + 0.000 8.4 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 5+ 4.500 4.5 0.00 0.00 0.0 0.000 0.00 0.0 0.00 0.00 0.0 0.000 0.00 0.0
NO. 6 + 0.000 15.5 0.75 0.38 5.8 0.026 0.01 0.2 2.20 1.10 17.1 0.101 0.05 0.8
NO. 7 + 0.000 20.0 0.00 0.38 1.5 0.000 0. 01 0.3 0.00 1.10 22.0 0.000 0.05 1.0
NO. 8 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 9 + 0.000 20. 0“ 0.75 0.38 1.5 0. 041 0.02 0.4 0.00 0.00 0.0 0.000 0.00 0.0
NO. 10 + 0.000 20.0 0.75 0.75 15.0 0. 049 0.05 0.9 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 11 + 0.000 20.0 0.00 0.38 1.5 0.000 0.02 0.5 0.00 0.00 0.0 0.000 0.00 0.0
NO. 12 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 12 + 10.924 10.9 0.00 0.00 0.0 0.000 0.00 0.0 0.00 0.00 0.0 0.000 0.00 0.0
NO. 13 + 0.000 9.1 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 14 + 0.000 20. 0“ 0.00 0.00 0. OH 0.000 0.00 0. 0“ 0.00 0.00 0.0 0.000 0.00 0.0
NO. 15 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 16 + 0.000 20.0 0.00 0.00 0.0 0.000 0.00 0.0 0.00 0.00 0.0 0.000 0.00 0.0
NO. 16 + 2.352 2.4 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 16 + 17.300 14.9 0.00 0.00 0.0 0.000 0.00 0.0 0.00 0.00 0.0 0.000 0.00 0.0
NO. 17 + 0.000 2.7 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
= H 320.0 43.3 2.3 39.1 1.8




W OE I = it E &
HiE
LRY VSR ER)S. =W (E) [ LRYVITBERB)S. On=W () [LRUVIEERB)1.4SWE.0n () || LAY VI EE) 1. 4=W<3.0m (%)
Aoom BRI e ;gg mH | @ W ;;‘é hw | BB ;gg mH | @ W ;;‘é hw | ™
il 20,0  (m) (m) (m) (m2) (m2) (m2) (m3) (m) (m) (m2) (m2) (m2) (m3)
NO. 1+ 0.000 0.00 0. 000 0.00 0. 000
NO. 2 + 0.000 20.0 0.00 0. 00 0.0 0. 000 0.00 0.0 2.00 1.00 20.0 0. 053 0.03 0.5
NO. 2 + 12.501 12.5 0.00 0.00 0.0 0. 000 0.00 0.0 4.56 3.28 41.0 0. 204 0.13 1.6
NO. 3+ 0.000 7.5 0.00 0. 00 0.0 0. 000 0.00 0.0 4.59 4.58 34.3 0.170 0.19 1.4
NO. 4 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 2.30 45.9 0. 000 0.09 1.7
NO. 4 + 11.583  11.6 0.00 0. 00 0.0 0. 000 0.00 0. 0“ 0.00 0. 00 0.0 0. 000 0.00 0.0
NO. 5+ 0.000 8.4 0.00 0. 00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 5+ 4.500 4.5 0.00 0. 00 0.0 0. 000 0.00 0.0 0.00 0. 00 0.0 0. 000 0.00 0.0
NO. 6 + 0.000 15.5 3.09 1.55 23.9 0. 044 0.02 0.3 1.61 0.81 12.5 0.034 0.02 0.3
NO. 7+ 0.000 200 0.00 1.55 30.9 0. 000 0.02 0.4 0.00 0.81 16. 1 0. 000 0.02 0.3
NO. 8 + 0.000 20.0 3.39 1.70 33.9 0.115 0.06 1.2 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 9 + 0.000  20. 0“ 7.30 5.35 106. 9 0.323 0.22 4.4 0.00 0. 00 0.0 0. 000 0.00 0.0
NO. 10 + 0.000  20.0 7.30 7.30 146.0 0. 627 0.48 9.5 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 11 + 0.000  20.0 6. 71 7.01 140. 1 0. 303 0.47 9.3 0.00 0.00 0. OH 0. 000 0.00 0. 0“
NO. 12 + 0.000  20.0 6. 71 6. 71 134.2 0. 394 0.35 7.0 0.00 0. 00 0.0 0. 000 0.00 0.0
NO. 12 + 10.924  10.9 0.00 3.36 36.6 0. 000 0.20 2.1 1.40 0.70 7.6 0.013 0.01 0.1
NO. 13 + 0.000 9.1 0.00 0.00 0.0 0. 000 0.00 0.0 1.47 1.44 13.1 0. 056 0.03 0.3
NO. 14 + 0.000  20. 0“ 0.00 0. 00 0.0 0. 000 0.00 0.0 0.00 0.74 14.7 0. 000 0.03 0.6
NO. 15 + 0.000  20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0. 00 0.0 0. 000 0.00 0.0
NO. 16 + 0.000  20.0 0.00 0. 00 0. OH 0. 000 0.00 0. 0“ 0.00 0. 00 0.0 0. 000 0.00 0.0
NO. 16 + 2.352 2.4 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 16 + 17.300  14.9 0.00 0. 00 0.0 0. 000 0.00 0.0 0.00 0. 00 o.oH 0. 000 0.00 0. 0“
NO. 17 + 0.000 2.7 0.00 0. 00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
& H 320.0 652.5 34.2 205. 2 6.8




W% I BB H Y S
HiE
TerurR@ERK A @ [ LRI TRE @RI (B) | L~y S5 @RS =N (B [| LAY > 5T G 3. o<W (6)
Aw B g qug mE | &% ;;; i | ®a qug mE | &% ;;; hE ||
3Bl 2 B 200 (m) (m) (m) (m2) (m2) (m2) (m3) (m) (m) (m2) (m2) (m2) (m3)

NO. 1 + 0.000 0.42 0.034 0.00 0. 000
NO. 2 + 0.000 20. 0 0.21 0.32 6.3 0.015 0.02 0.5 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 2 + 12.501 12.5 0.00 0. 11 1.3 0. 000 0.01 0.1 8.40 4.20 52.5 0. 262 0.13 1.6
NO. 3 + 0.000 1.5 0.00 0.00 0.0 0. 000 0.00 0.0 6. 86 7.63 57.2 0.180 0.22 1.7
NO. 4 + 0.000 20.0 2.36 1.18 23.6 0.095 0.05 1.0 0.00 3.43 68. 6 0. 000 0.09 1.8
NO. 4 + 11.583 11.6 0.72 1.54 17.9 0.040 0.07 0.8 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 5+ 0.000 8.4 0. 21 0.47 3.9 0.015 0.03 0.2 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 5+ 4.500 4.5 0.56 0.39 1.7 0.003 0.01 0.0 3.58 1.79 8.1 0.024 0.01 0.1
NO. 6 + 0.000 15.5 0.00 0.28 4.3 0. 000 0.00 0.0 4.12 3.85 59.7 0. 048 0.04 0.6
NO. 7 + 0.000 20. 0 1.20 0.60 12.0 0.015 0.01 0.2 3. 36 3.74 74.8 0. 055 0.05 1.0
NO. 8 + 0.000 20.0 0.00 0. 60 12.0 0. 000 0.01 0.2 3.78 3.57 71. 4 0.135 0.10 1.9
NO. 9 + 0.000 20. OH 0.00 0.00 0. 0“ 0. 000 0.00 0.0 3.89 3.84 76.7 0.104 0.12 2.4
NO. 10 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 1.95 38.9 0. 000 0.05 1.0
NO. 11 + 0.000 20. 0 0.00 0.00 0.0 0. 000 0.00 0.0 3.69 1.85 36.9 0.049 0.02 0.5
NO. 12 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 1.85 36.9 0. 000 0.02 0.5
NO. 12 + 10.924 10.9 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 13 + 0.000 9.1 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 14 + 0.000 20. OH 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 15 + 0.000 20.0 1.32 0. 66 13.2 0.017 0.01 0.2 3.55 1.77 35.5 0. 054 0.03 0.5
NO. 16 + 0.000 20. 0 0.00 0. 66 13.2 0. 000 0.01 0.2 0.00 1.77 35.5 0. 000 0.03 0.5
NO. 16 + 2.352 2.4 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 16 + 17.300 14.9 0.95 0.48 7.1 0.008 0.00 0.1 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 17 + 0.000 2.7 1.22 1.09 2.9 0.010 0.01 0.0 0.00 0.00 0.0 0. 000 0.00 0.0

= E 320.0 119.4 3.5 652.7 14.1




% I 4 B HE B
HiE
. LRV ERB) 1. 4SWAB.0n (B) || LRV TBERB)1.4SWG.m (B) || LRXYVIBERBRIWI.4n (F) || LXYVIEERBWI. 4n (H)
Aw B g qug mE | &% ;;; i | ®a qug mE | &% ;;; hE ||
Pl 200 (m) (m) (m) (m2) (m2) (m2) (m3) (m) (m) (m2) (m2) (m2) (m3)

NO. 1 + 0.000 0.00 0. 000 0.00 0. 000
NO. 2 + 0.000 20. 0 0.00 0.00 0.0 0. 000 0.00 0.0 0. 66 0.33 6.6 0. 007 0.00 0.1
NO. 2 + 12.501 12.5 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.33 4.1 0. 000 0.00 0.0
NO. 3 + 0.000 1.5 0.00 0.00 0. O“ 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 4 + 0.000 20.0 2.10 1.05 21.0 0. 048 0.02 0.5 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 4 + 11.583 11.6 1.49 1.80 20. 8 0.020 0.03 0.4 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 5+ 0.000 8.4 0.00 0.75 6.3 0. 000 0.01 0.1 1.17 0.59 4.9 0.025 0.01 0.1
NO. 5+ 4.500 4.5 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.59 2.6 0. 000 0.01 0.1
NO. 6 + 0.000 15.5 1.40 0.70 10.9 0.023 0.01 0.2 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 7 + 0.000 20. 0 0.00 0.70 14.0 0. 000 0.01 0.2 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 8 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 9 + 0.000 20. OH 0.00 0.00 0. O“ 0. 000 0.00 0.0 0.00 0.00 0. O“ 0. 000 0.00 0. 0‘
NO. 10 + 0.000 20.0 1.70 0.85 17.0 0.012 0.01 0.1 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 11 + 0.000 20. 0 0.00 0.85 17.0 0. 000 0.01 0.1 0.00 0.00 0.0 0. 000 0.00 0.0
NO. 12 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0. 21 0. 11 2.1 0.016 0.01 0.2
NO. 12 + 10.924 10.9 0.00 0.00 0.0 0. 000 0.00 0.0 0.21 0.21 2.3 0.016 0.02 0.2
NO. 13 + 0.000 9.1 0.00 0.00 0.0 0. 000 0.00 0.0 0. 21 0. 21 1.9 0.016 0.02 0.1
NO. 14 + 0.000 20. OH 0.00 0.00 0.0 0. 000 0.00 0. 0‘ 0.21 0.21 4.2 0.016 0.02 0.3
NO. 15 + 0.000 20.0 0.00 0.00 0.0 0. 000 0.00 0.0 0. 21 0. 21 4.2 0.015 0.02 0.3
NO. 16 + 0.000 20. 0 1.52 0.76 15.2 0.050 0.03 0.5 0.21 0.21 4.2 0.014 0.01 0.3
NO. 16 + 2.352 2.4 1.45 1.49 3.6 0.037 0.04 0.1 0. 21 0. 21 0.5 0.014 0.01 0.0
NO. 16 + 17.300 14.9 0.00 0.73 10. 8 0. 000 0.02 0.3 0.21 0.21 3.1 0.014 0.01 0.2
NO. 17 + 0.000 2.7 0.00 0.00 0.0 0. 000 0.00 0.0 0. 21 0. 21 0.6 0.014 0.01 0.0

= E 320.0 136. 6 2.5 41.3 1.9




A R-EE BN

3 : Y o) @ R %,
AR\ 4, B S (t=50m)A=52.5m2
s 5 Fo BETYOH LE5 00m

o S % el 5n—=2. 50m)

ST LJotﬂ(vsoj AW=1. 75m, L=1. 75m x 30=52. 50m)

L IN0T+19.50" &

"og
9

."'.p-

A = 525 m




e

T i 5 @ 5l |k EfE u B &% ®mE
Z 1 Al
HET

HESHE BT TERE m? - 12181 1,218.1
a8 § " - 1,218.1 1,218.1

REI ZRE7RI200E IR t= 5cm
3.0m=wW m? 22263 3,245 5,350.8
1.4<W<3.0m " - 72.0 72.0
W<1.4m " - 6.5 6.5
a & 22263  3,203.0 5,429.3
LRYVYT m? 433 39.1 82.4
17 m3 23 1.8 41
EHE | cm 5.3 46 5.0

HET HAE7 X220 t= 5cm
3.0m=wW m? 22278  3,169.7 5,397.5
1.4<W<3.0m " - 49.9 49.9
W<1.4m " - 28.4 28.4
a & 22278  3,2480 5,475.8
LRYVYT m? 977.1 830.6 1,807.7
" m3 445 185 63.0
EHE | cm 46 22 35

EERET BEERELEI t= 8cm
3.0m=wW m? - 10342 1,034.2
1.4<W<3.0m " - 82.6 82.6
W<1.4m " - 61.6 61.6
a8 § " - 1,1784 1,178.4

TERBIT B49790v—70 RC-40 t=25cm
3.0m=wW m? - 10775 1,077.5
1.4<W<3.0m " - 83.7 83.7
W<1.4m " - 63.5 63.5
a8 § " 00 12247 1,224.7




. b5 E M T



Br & Mt T &% E £ & %
I i 7l 7l R X % By = it &
BT
A—FL—IL Gr-A-2B m 52.0
Tl v AR AR m 52.0




NO.

Bh & M =T & B B #F
Gr-A-2B
= i a il
g2 ® = ER = 2= B = ER M=
1 1NO. 2+ 14.20[NO. 5+ 6.20] 52.00
2 2
3 3
4 4
5 5
6 6
1 1
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
2] 2]
28 28
29 29
30 30
£ f & a f & 52. 00
=) & (£ fl + & ) L= 52.0m




NO.

Bh & M =T & B B #F
TLF v X FhEMER
= i a il
g2 ® = ER = 2= B = ER M=
1 1NO. 2+ 14.20[NO. 5+ 6.20] 52.00
2 2
3 3
4 4
5 5
6 6
1 1
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
2] 2]
28 28
29 29
30 30
£ f & a f & 52. 00

=) & (£ 1 + & @) L= 52.0m




X E # T



XE#RTHERETR

I Al Al BO#® X % By #H 8 w =
RE#RT
RE#REE
BRAXER m 1,756.5
HRERKR  ERE)W=15cm | 7 100.0
iR (B)W=15cm | 1453
HEMIR  ERE)W=20cm | 7 1,282.0
EC Rt W=45cm " 214

BREAZER W=15¢cm 7 207.8 F& 15cmi®




XE#RT BEXR (1)
ERMARER: T
fi & EEERR
£ A & R |LZ|ER aeug 86 W=
NO. NO. W=15cm| W=15cm
Lx5/10
1 0+ 19.50 3+ 950|& 50.00
2| 0+ 1950 3+ 950 # 50.00
3] 3+ 950 4 + 950| n 10.00 20.00
4 3+ 950 17 + 0.00| » 135.25 270.50
& m 100.00 145.25




XE#HRT HEXR (2)
ARXRER: T
& & EN R
g A £ A |z =m ee t
NO. NO. W=20cm
1 0+ 19.50 17 + 0.00( & 320.50
2 0+ 1950 17 + 0.00( » 320.50
3 0+ 19.50 17 + 0.00[ & 320.50
4 0+ 1950 17 + 0.00( ~ 320.50
=) m 1,282.00




XEHT HEXR (3)
ARnXRER: F5
ivd B B
= T
£ & ® A wu| B | EE B W=45cm 1
NO. NO. (m) (L) R
BEiw A X (0.45/1.45) /0.45
1 34+ 950 ~ 5+ 450 & 31.10|m 21.40
N E 21.40
N £ m 21.40




XE#HLT BEX 4
ARXRER:F
i B = —

g2 & B & |z mERT i
NO. NO. HE BRER| B MmR| K S
B EE TR

1 1ERHEYISemRER
2| -EE 1EATEY  6.25m
3| “A-EF 1BFHY  6.66m
4| -EEEH 1ERTHY 891m
5| -BEERH 1ETHY 891m
6| -BEH 1EATHY 9.65m
7| "EEEEHR 1EFHAHY  1157m
8| -F& 1EATHY  -1.00m

1 14+ 500 ~ 3+ 700 A ar 6.66 3| 19.98
2 14+ 500 ~ 3+ 700 # (B3 6.25 3| 1875
3 1+ 500 ~ 34+ 700 # EHr 6.66 3] 19.98
4 44+ 1700 ~ 16 + 1750 » | BIFFE 5.66 9| 50.94
5 4+ 1700 ~ 16 + 1750 » | BEFEH 5.25 9] 4725
6] 4+ 1700 ~ 16 + 1750 » | ERF&E 5.66 9] 50.94
& B m 207.84




BT TERAER (25)

ST BT TR R R

Ao | mh (end) | fE10om BB M8 | R (end) | Mo B
1 9,375.0 6.25 30 29,014.6 19.34
$ 7,875.0 5.25 40 29,711.0 19.80
(’ 9,993.6 6.66 50 27,863.9 18.57
¢ 8,193.6 5.66 60 31,622.7 21.08

vI 13,371.5 8.91 {Ic 20,829.3 13.88
,ﬁ 11,871.5 7.91 H 15,150.0 10.10

‘]" 14,485.9 9.65 & 92,650.0 15.10
~ 17,355.0 11.57 5’8 7,620.0 5.08
M 18,288.6 12.19 A3 11,345.0 7.56
b4 14,219.6 9.47 T 8,837.5 5.89
8 21,840.0 14.56 Ik 8,400.0 5.60
() 21,765.8 14.51 < 1,589.5 3.06
V 26,567.0 17.71 1% 4,319.0 2.88
H 9,360.0 6.24 - 2 10,127.6 6.75
) 11:337.5 7.55 gy 10,896.3 7.26
L8 9,400.0 6.26 A 9,000.0 6.00
- 5,600.0 %48 o 7,907.0 5.27
i 12,427.5 8.29 & 13,755.0 9.17
% 2,710.0 1.81 Iz 11,666.9 7.78
(%3 10,738.5 7.16 HE 11,250.0 7.50
g 1,295.0 0.86 H 15,750.0 10.50
i 10,632.3 7.09 Ef IR ST .
i 11,450.0 7.63 Bl 8-20 Tl B
8,070.0 5.38 AR S AR T
f; 9,915.0 6.61 # 7-9:30 R -
5 9,855.0 6.57 WA S AT T
1 7,710.0 5.14 #1719 RIRETR et
= 12,375.0 8.25 LA A

R O 3,750.0 2.50

Tt KA FH ~1.0m g

1A 10.26m &% 2,306.9 1.53

xk 1) B
i

i

1B (8.16) 22(6.78)

L TR IR R AR v 7)) 2 EE RS R 2 S LD o




9.

BB TR SR T



EIRTRIE TRERR

I & Z A Al O X & B fsp = b
BT ERRT

EERMAEYMT

RIREEEIZ H 19

(A) " 7

(B) " 8

(C) " 1

(D) " 2

KERIREEIZ (E) " 1

BAI SEEERIOVY CE m 313.0

FAHh—T " 106.9

avH—k—)L t=100 m® 16.3

HiEHAR—I)IL | BYsSLR & 7

A EVININ El3i1 3

HROMIZ  S/\—FKR—IL H=650 El3i1 98

R EE El3i1 6

FRBfAZ El3i1 9




NO.

fARFERERNAE
(A)
p2i A f
£ = #® = HRr  WE £ = #® = HRr  WE
1 1 NO. 8+ 10.00NO. 17+ 0.0 7
2 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ fal H A {8 H 7
= (Z | + & 4D N= 7 E




NO.

AR BEREmR®AE
(B)
== RAN a @
2 = #® = BT W= g R #® = BT W=
1 NO. 2+ 450NO. 5+ 420 3 1
2 NO. 12+ 1200 NO. 17+ 0.0 5 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ & 8 = 4l B

8 & (X @ + & fp N= 8 £




NO.

AR BEREmR®AE
(C)
== RAN a @
2 = #® = BT W= g R #® = BT W=
1 11+ 0.00 1 1
2 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ & 1 = 4l B

8 & (£ 1 + A& ) N= 1 &




NO.

AR BEREmR®AE
(D)
== RAN a @
2 = #® = BT W= g R #® = BT W=
1 000NO. 1+ 1.00 2 1
2 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ & 2 = 4l B

8 & (X @ + & fp N= 2 &




NO.

AR BEREmR®AE
(E)
== RAN a @
2 = #® = BT W= g R #® = BT W=
1 NO. 0+ 19.00 1 1
2 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ & 1 = 4l B

8 & (£ 1 + A& ) N= 1 &




NO.

% A I & FE A &
SHEERIOVICE
i 2l a A1
g = #¥ = ERrR WE g = # = ERrR WE

1 NO. 1+ 000NO. 5+ 450 8450 1 NO. 1+ 000NO. 5+ 450 8450
2 NO. 10+ 1800NO. 12+ 000  22.00 2 NO. 10+ 1800 NO. 17+ 000 122.00
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30

£ fl it 106. 50 A it 206. 50

= g (£ A + & A L= 313.0m




NO.

% A I &£ K A &
FAh—T
AR | (=
g = #® =R ER BE g R #® =R ER BE
1 1 NO. 11+ 1310NO. 17+ 000 106.90
2 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ &t a @l &t 106. 90
= B (£ il + & ) L= 106.9 m




NO.

avou—ro—L
t=100
1.av9y—ko—n
RERH
NO.1+0.00~NO.5+4.50
L= 84.500 = 84.50 m
V= 84.500 X 0.100 X 0.100 = 0.85 m3
— AR #B
NO.10+18.00~NO.12+0.00
L= 22.000 = 22.00 m
V= 22.000 X 0.600 X 0.100 = 132 m3
Mz & A
NO.12+0.00~NO.17+0.00
L= 100.000 = 100.00 m
V= 100.000 X 0.600 X 0.100 = 6.00 m3
7k
NO.11+13.10~NO.17+0.00
L= 106.900 = 106.90 m
V= 106.900 X 0.076 = 8.12 m3
Fv= 085 + 132+ 6.00 + 8.12 = 16.29 m3

_SEEAA
IRFRIIRE NS0 bn

HED
RIS - O

ko ) — b 2L O
AL =g

TR R s

L4
iFmiE] 0w




NO.

H B B KB &8 & KR A B
YLK EIEHR—IL
(L=10.40)
AR | (=
g = #® = BT = g R #® = BT EE
1 NO. 5+ 1800NO. 6+ 840 7 1
2 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ &t 1 & fl &t
a & (£ il + & ) L= 1 &




NO.

B B & R B & Z FE A OB
oviavkI L
i 2l =
g = #® = BT W= g = #® = BT HE
1 NO. 0+ 17.70 1 1
2 NO. 5+ 480 1 2
3 NO. 10+ 17.70 1 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ &t 3 A &t
& & (£ A + & A L= [E03i




NO.

H B B KB &8 & KR A B
HRS IR (5/3—R—JL H=650)
(@1.0m)
AR | (=
i = #® = BT WE i = #® = BT EE
1 NO. 5+ 550NO. 5+ 17.50 11 L=12.00] 1
2 NO. 6+ 900NO. 10+ 17.00 87 L=88.00| 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ fl &t 98 & @ &t
= & (£ @ + & ) L= 98 FEFT




NO.

B B B B & Z R A &
REFER
i p2) =
g = #® = BT W= g = #® = BEr WE
1 NO. 16+ 300NO. 18+ 13.00 6 1
2 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
£ &t 6 Al &t
= g (£ il + & ) L= 6 BT




NO.

B B & B B X E R A B
ER AR
h 5 A f
2 & = B HE 2 & = B HE
1 NO. 4+ 10.00 1 1
2 |NO. 10+ 0.00NO. 17+ 0.00 8 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 1
12 12
13 13
14 14
15 15
16 16
17 17
18 18
19 19
20 20
21 21
22 22
23 23
24 24
25 25
26 26
27 27
28 28
29 29
30 30
E B &t 9 a_fl &t
a3 (£ B + % @) L= by







NO.

FAN—T
230
2080 10030
A=0. 020m2
N
N
S 8
LS
230
10mZ7=Y
i Al T % B #E & =

A K m3 0.20 10.000 X 0.020




NO.

a o) —ko—IL
XA

BENEF IO v 7 CHE

= AR
(hRE BT W=0. 5m)

QAo —E—IL (t=100)

/ (2o — 2D

100
/

10m7=L)
& 5l o |mel wE S
Qv H—k | avsU—r@
—)L t=100 m® 0.10 10.000 X 0.100 X 0.100




NO.

avy)—ko—IL
— 885

a9 — k=L (1=100)

SEEHF IOy 9 CH

/ S

23

FEAIER DO w7 CiE

10m7=L)
& 5l o |mel wE S
Qv H—k | avsU—r@
—)L t=100 m® 0.60 10.000 X 0.600 X 0.100




NO.

avo)—r—IL
A Bl

P #2485 50
(hREEF W=1. 0m)

(BEAS) M RIR

o4

J— ki =i (t=100)

(3

2 ) — )

10m7=L)
& 5l o |mel wE S
Qv H—k | avsU—r@
—)L t=100 m® 0.60 10.000 X 0.600 X 0.100




NO.

a o) —ko—IL
VIR

)k
(E&E W=1.0m)

1000
229 ) — b i—iL (=100
(azsU—N2)
F7AH—TF \
Y
T | -5
— ST I e
10m¥71=t)
& 2l ok | wE g =
A Hy—k | av5Y—r@
<—)L t=100 m® 0.76 10.000 X 0.076




&£k pt

SM-B800-L600-H430(SM-B800-L800-H1500)

EmEE A-A BB
7
i PAIE. R —
g‘: 3\ : BT REAK & 200 T, “. 1 -. E‘ i‘l‘ﬁs—;‘éuiéwigﬁ%\\.\ — a §
1a g s i il A N \ & 'I \ S!‘-LUM\\ M T
L T seEw oo f | L
g it bt *’\ 9 g = — =t
£0 BOD 200, N = : \ = = e Rl i 0 ﬂhﬂkﬁ{s.%
I ' QJ ) \ WBE R0 Naxwss wo-a
_B_I 800 00 200 800 oo
10 1200 100 00 1200 (4]
400 1400 4
10m 7=
& Al g
= (1100 x 0900 X 0430 - 0.800 X 0.600
X 0430) x 0600 + ( 1200 X 1.000 + 1.200
x 1200) x 172 x 0600 - 0.600 X 0.800
+ 0.800 X 0.800 X /2 x 0.600 + ( 1.200
av49)—kQ X 1.200 X 1.050 - 0.800 X 0.800 X 0.900 ) = 1.524 m3
= (0900 + 1.100) x 0430 X 2 + ( 0600
+ 0.800) X 0430 X 2+ 1.000 x 1.200
+ 1200 X 1.200) X 172 % 0.600 + (  0.600
X 0.800 + 0.800 X 0.800) X 172 % 0.600
+ (1200 + 1.200) X 1.050 X 2
B + (0800 + 0.800) x 0900 x 2 = 11.97 m2
HEBRR = 1.400 X 1.400 = 1.960 m
HiE 1=
EHEE 4 X
= (4430 4430 + 2200 X 2.200 )
PRI X 1/2 2.230 27.278 m3
= 27278 - (( 1.100 0900 X 0430 + (1100
x 1200 + 1.200 1200 ) x 172 % 0.600
+ 1200 X 1.200 1.050 + 1400 X 1.400
BREL X 0.150 )) = 24.219 m3
TRt g = (27218 - 24219) + 0.9 = 3.400 m3
HEEIE = 1.400 X 1.400 = 1.96 m2




NO.

UR &

US3-B250-H250

fEF 5 (RC-40)

450
10m7=L)
& 3 o |wEl wE S
X K L=2.00m/& | K 5.0 10.000 =+ 2.000
avol)—k
= L=0.50m/#& | #& 20 10.000 + 0.500
BEILZIIL 1:3 m° 0.10 10.000 X 0.030 X 0.320
RC-40
HEERA (t=100) m? 4.50 10.000 X 0.450
HEEIE m? 450 10000 x 0.450




NO.

UR &

US3-B500-H500

500

BELZNA:3) \ /

\mwa (RC-40)

700 |

10m7=L)
& 3 o |wEl wE S
X K L=2.00m/& | K 5.0 10.000 =+ 2.000
avol)—k
= L=0.50m/#& | #& 20 10.000 + 0.500
BEILZIIL 1:3 m° 0.17 10.000 X 0.030 X 0.580
RC-40
HEERA (t=100) m? 7.00 10.000 X 0.700

HEEIE m? 7.00 10000 x 0.700
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US3-B500-H600

500

600

BELAI(1:3)
Emé%ﬂé%ﬂm?—/@;” =
! 550 \‘
BERE (RC-40)
700
10m7=L)
& 3 o |wEl wE S
X K L=2.00m/& | K 5.0 10.000 =+ 2.000
avol)—k
= L=0.50m/#& | #& 20 10.000 + 0.500
BEILZIIL 1:3 m° 0.17 10.000 X 0.030 X 0.550
RC-40
HEERA (t=100) m? 7.00 10.000 X 0.700

HEEIE m? 7.00 10000 x 0.700
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T HEK

¢ 200

880

Lo |
&3
g
=
FFLE (H200) h
400
10m¥71=t)
& 2l ok | wE g =
¢ 200
BEIE L.=4.00m 7N 2.5 10.000 - 4.000
( 0.400 + 0.880 ) X 0.800 X 10.000
J4IL3—% RC-40 m® 481/ 2.000 - T X 0.100 2 X 10.000
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% o~
=
\_E BB (RC-40)
100 | 600 100 |
800
10m7=L)
& 3 o |wEl wE =%
X K L=2.38m/& | K 4.2 10.000 =+ 2.380
Fp =2y LB N )
avy)—k m° 1771 10000 x 0.177
avol)—k
U m? 460 10000 x 0230 X 2
RC-40
HEERA (t=150) m? 8.00 10.000 X 0.800
HEEIE m? 8.00 10000 x 0.800
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SEERKRTIOVY CiE

180

™
\
= \
b= \
:1I
/{:. | A
# \
BELEZLA:3)/ \ HERE (RC-40)
95| 210 |95
400
10m&7=b
2 Al T #% B #=E g =
X & L=0.60m/& | & 16.7 10.000 0.600
BEILLIL 1:3 m3 0.02| 10000 x 0010 X 0.210
RC-40
HEiERR (t=80) m2 4.00 10.000 x 0.400
HEEIE m2 4.00 10.000 X 0.400




SM-B900-L900-H800 Hfi#iEstEE

(1&ERT&HY)

o 1100 ~ 1200 X 1200 1100
500 | 900 x 900 | 500
150 150
1 1 . I \
L
Y 8{ B
o o \ ™ o o o
[P [ - B G
\ o 7
Y 3 H
1 2§ B /
o \ II
oy N 200NN T Y Y
1300 x 1300 _
XH=1000DIG B X BH#EBEE&KI(IT5,
i | =1 = # =
1.avs)—k|v= 1200 x 1200 x 1.050
- 0900 x 0900 x 0900 = 0.783 m’
2. B A=( 120 + 120 )x 105 Xx 2
+ 090 + 090 )x 090 x 2 = 8.28 m?
3 EMPRA [A= 130 x 130 = 1.69 m?
4.t = N= 2 ®
5. Z#&E | N= - K
6.+ T
Bk 8 [v=( 340 x 340 + 220 x 220 )x 1/2
X 120 = 9.84 m®
R |v= 120 x 120 x 105 + 025 = 177 m®
(EHERR)
V= 984 - 177 = 8.07 m®
B |v= 984 - 807 = 09 = 0.87 m?
HE®EF |A= 130 x 130 = 1.69 m?




SM-B900-L1500-H900 Bifi$=stE =

(1&ERrEY)

o 1125 ~ 1300 x 1900 1125 -
500 | 900 x 1500 | 500
200 D0
[\ '\ \ O I T ERATTTao ey / '\
\\\ l__ II
Y 8{ B
o o v ™ >, "" o
S| 8 2 %.— T g, B8
*\ o H
\ o ’
. | ‘\\ '-°_ /I H
| =] | \ /
o ‘\ /I
¥ N 200NN T 1
_ 1400 x 2000 _
XH=1000DIG B X BH#EBEE&KI(IT5,
Al =1 = B =
1.avsy)—k|Vv= 1300 x 1900 X 1.050
- 0900 x 1500 x 0.900 = 1.379 m°
2.8 A=( 130 + 190 )X 1.05 2
+ 090 + 150 )x 090 x 2 = 11.04 m?
3. KA |A= 140 x 200 = 280 m?
4.1 = N= 2 M|
5. BEERE [ N= - K
6.+t T
IR #8 |V=( 355 x 415 + 230 X 290 )X 1/2
X 125 = 13.38 m°
R V= 130 x 190 x 105 + 056 = 3.15m’
(BERER)
V= 1338 - 3.15 = 1023 m°
B |v= 1338 - 1023 — 0.9 = 201 m®
HEEEIFE [A= 140 x 200 = 280 m?
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